

Problem 	PROBLEM OF THE WEEK
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Name & Surname: _______________________________________ Class: _______
	Grade 4 & 5    2025 # 20			Hand in by Thurs 24 July
A small ink cartridge has enough ink to print 600 pages. Three small cartridges can print as many pages as two medium cartridges. Three medium cartridges can print as many pages as two large cartridges. How many pages can be printed using a large cartridge?

 
 
Therefore, 
Which means that 
Therefore 1 small 
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Hand in by 1500 on Thursday (place in the box outside the foyer). The best solution (not just the answer) will be announced on Friday. The solution will posted on the website: http://markrushby001.wixsite.com/sv-maths/problem-of-the-week 
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